o OOoOOO

PENDANT

DPN-54853
¥320,000 0000 o
o] 35V E260 40

CDM-R1 PAR200 L)

Ooooo oooooo
000000bDo000 000000
e8.20

e 00MOIDDO30°0
e000O0DO

DPN-53093

¥63,000 EEE

50WﬂE11D<SD
00000000mos5000

goooooooooo oooooo

00000 oooooo

450

e 00 MO0OO45°000180°0
e00000DOD

—o 11

79
67
[

-4000) 2040 —‘

e00O0OOOO
goooooo

7
=
180 l:les
5000 1200

S
S

DPN-54854 o DPN-53092 A 70—
¥300,000 x g ¥52,000 o T T
m 35\ E260x 40 1==1 8 50W1 E110 40 il g
CDM-R1 PAR200 B 0oooo0o0o0oomos5000 S
o
goooo oooooo 00000000000 Dooooo { } <
goooooo000oo oooooo ©3.50 G WD -

®7.50 e 000D O45°000180°0
eJ00MOIDO30°0 e0000OOD
e0OI0ODO
eJ00000O0O0O0OOOOODO
oooooo WEDDD:EODDEL oooooo Uan[ﬁODDB}LX
L 120000 1(\)000 g - 1/2EIEI‘DEI b g
2 ~— 7
H A 085 10 0.2 23000| ‘ 15 PHires— 1 05 5000 1§
3550 L / 5000 5 770 1000
095—— [ 0.3 :750[ I 2? fas—— p11 1250 om
05 2567 | \'7‘2000 . 16 | 555 @JD
0.7 1440 iy 4 21315 @A
120806 1 1 120806

0000 (m 0000 (m)
CDM-R(PAR20)35W0 0 0 00 CDM-R(PAR20)35W0 0 0 (0

CDM-RO PAR200 gooooooon

gooo0oo0oooo

0O00O00mOoooo DPN-53091 o s
0oooooooo ¥43 500 EEEE paviiL)
0oooooooo ! T

mBQ] 50W E110x 30
0O00O00o0O0o0mos00n
00000000000 000000

*3.00
e 00MO0OO45°000180°0

ooooooooo
ooooooooo
goooooooboOoooooooo

— _I

n

n

‘——I
40002040 ——]

goo00000E260 0000 000000
go0ooooooooobooooooooo

75l

goooooo
000000000 00000000000 eoopooon 2
50W0 40W iy
CDM'FEPARZ(EES?Q’DDDDDDDDDD 0o | oo |oooojoooofooofEooo ——s60—
oo | oo 0mMo00cdd|0KO |Oho
0DmO000cdd |OKO [O0h0 000 |op-3431510 2,600 3.800 | 3.000 | 3.000 oooooo 1’2[DDDLODDHL>< oooooo UZDDED:EQDDBJLX oooooo UZDDEHQODDB]LX
- u} a o
000 |DP-54407 |00 12,000[23,000| 3,000 | 9,000 ! ! | ' U/‘asu 2000 ° s 12701 1000/ © 30 1127710 NSOO g
1990. — 2 03 1750 715 | | #420__ @05 | 800 — 18
000 |DP-34316{0 2,600| 1,750 | 3,000 | 3,000 85 P 5 | fass 2
000 |DP-54408012,000{ 5,000 3,000 | 9,000 o [ 1000 § Py, bor |40/ || 180 & i bus | 200 200
000 |DP-34317|02,600[ 800 | 3,000 | 3,000 g g g
000 |DP-544090 12,000{21,500 | 4,200 | 6,000 lbos Lzs/ 00 ° hag 145 200 ° has / 90 A@ S
000 |DP-54410|0 12,000 5,000 | 4,200 | 6,000 lp 0.7 240 200 bis 110/ / 99, 21| 50/ 20,
120906 1 120906 120906

0000 (m) 0000(m) 0000(m)
500000000000004000000 500000000000004000000 50000000000004000000

152 Woooooooooo



